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(0) Mean, ‘ Hnunqinq dada 35,36,88,92,92,98, 112,134, 25, 231,336
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o R Azl X285 2 Median = Y[6) = 98 dealhs
= 924384112488 134 +36 1351 92+ 2154336 4231 - !
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= 134,09 (92-135)* 4 (98~ 135)% 4 (112-135)*4 (88 135)> +(124-35)°
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Mode = 92 { Year 2006 ,2013) , s os=)2 2 92,09
(b) Rrcendle of value 215 | ) Meow, because overy dmla is counted even when
_ fo.0f values less than 215
= fotal ro,of values “00) ‘H\ere are 00."!'18!‘5
x £ (100) T,
= 12,73 :
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Question 5 :
(a) meah, ‘.2 :__:mmﬂouumgﬂnrlf-J#HOHS**S = 135 fb) Median =115, Mean = 1115
Mode = 1, 14 # Since median < mear; the dictribudion is
Arranging datas 810,10 M, 10,11,12,13,13, 14, I, 14 posititely skewed and skewed 4o the right .
nzi2, PZX%..G s+ Median ”M~M= .5 rngifpn i
dais ‘.
Range = -, = 14-8 = 6 2 / :\
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1le)  Standard deviation , s () rxk=3, Q=5 I o4l 1os
. [E=® : x% =9, @ =*[-—‘““‘t'°3--—'5”"’ =135
= ITAT
(8-11.16)#(10+41,15)* $(10-11.15P+ 3 (11-1.15)*+ (12-41.15)* I0R=Q;-Q, = 135-105 =3
- 2(13=1.35)% 4 3[14-11,18)%
; (P Q- 1,5TQR = 10.5-1.5(3)= 6
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da"u is not an outlier.







